&AL

I
2

Al £ ol 3 Al A

20258 =& 1 2 LBEIH IS

A ZHOIEn
33 N9EN 2483t

=2l NAZHEL S (CHel: & 2l)
SA - HH - G(B1H) - NIRAY - BES 04l v ol 3 o HmE==T

2RI 15,333,504 14,746,093 587,411

= 2,902,275 2,902,275 0

as 25,974 29,375 23,401

== 1,099,103 953,798 145,305

= 11,3086, 152 10,860,645 445,507

NEZH edst 2,058,972 2,098,092 A39,120

= 3,060 3,060 0

== 44,042 46,402 A2,360

= 2,011,870 2,048,630 36,760

NSBHES 3! 1,999,342 2,036,062 236,720

== 36,300 38,260 1,960

= 1,963,042 1,997,802 A34,760

XNSH edst =8 410,760 439,960 29,200

201 LBt 3| 72,360 102,360 230,000

03 Ar2 I 66,950 96,950 230,000

OZZ2X2Y JI1E At gl 0 30,000 230,000

301 LEtEAZ 13,400 12,600 800

1 HARRHIX 23 13,400 12,600 800

O28IXH ZH w= 160,0002*53 800 0 800

AADOl ARD HASIZH NS AN 76,000 66,000 10,000

== 30,400 26,400 4,000

= 45,600 39,600 6,000

402 QI2t X201 A 76,000 66,000 10,000

== 30,400 26,400 4,000

= 45,600 39,600 6,000

02 QIFXHEAIEE (01X ) 76,000 66,000 10,000
OAAROl ARD AASHINM ALY

2,000,0004%387H A 76,000 66,000 10,000

== 30,400 26,400 4,000

= 45,600 39,600 6,000

e e 5T HAZ NFAS 7,000 10,520 A3,520

== 3,500 5,260 A1,760

= 3,500 5,260 21,760

307 2I2+0|H 7,000 10,520 A3,520

== 3,500 5,260 A1,760

= 3,500 5,260 21,760

02 QIZHALAIAE X 7,000 10,520 A3,520
OZe et 5|AEAS NHALY

7,000,000 7,000 10,520 A3,520

== 3,500 5,260 A1,760

= 3,500 5,260 21,760

SN AaZol HALHEH] XIRAA 0 14,000 214,000

== 0 4,200 24,200




A ZHOIEn
33 N9EN 2483t

=R NS 3NEdat CEREE)
2A - - HA(ZH) - MIRAY - BES Ofl &k &N Husz
= 0 9,800 9,800
308 AHXIEFHISOIE 0 14,000 14,000
< 0 4,200 4,200
= 0 9,800 9,800
13 SO I2ASOICHSH B S RS AL ] 0 14,000 14,000
OGNl Aaf8el AZHT TIZAHL
0¥ 0 14,000 14,000
< 0 4,200 4,200
= 0 9,800 9,800
HSSHMEFTY 35,800 38,200 2,400
< 800 1,200 400
= 35,000 37,000 2,000
SHSHEHAS AR 4,800 7,200 A2,400
< 800 1,200 400
= 4,000 6,000 2,000
402 RIEXH20( A 4,800 7,200 2,400
< 800 1,200 400
= 4,000 6,000 2,000
02 BIFXHEAIE 2 (01 TH) 4,800 7,200 2,400
OS0SHE Fei=z NEA
2,400,000 *2JH 4~ 4,800 7,200 A2,400
< 800 1,200 400
= 4,000 6,000 2,000
SXRR 435t 96,280 98,280 2,000
SN=IX22E 56,280 58,280 2,000
X=X 243 56,280 58,280 2,000
208 P22 1,000 3,000 2,000
03 AIBFAH RS2 1,000 3,000 2,000
OSXSAAG AIMSPR =8
1,000,000 1,000 3,000 22,000
HEANF2F 2 567,088 507,728 59,360
< 184,480 182,800 1,680
= 382,608 324,928 57,680
dSAE2CZZ 567,088 507,728 59,360
< 184,480 182,800 1,680
= 382,608 324,928 57,680
HSANE =2 179,928 129,928 50,000
401 AIEHILS Y] 100,000 50,000 50,000
01 Al&H] 100,000 50,000 50,000
OHSAE SSAEE E=SA(=AI)
100,000, 0002 100,000 50,000 50,000
HSAE SHHSMAIZ A 960 1,600 1640
< 480 800 N320
= 480 800 N320

|
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SA DI
u: MSAZSYBL

e

o MEAE2Z2Y (CHel: & 2l)
S - B - 2I(B)H) - HRA - BES Ol bl ol 3 o GmE=l
307 QI2+0|H 960 1,600 2640
== 480 800 2320
= 480 800 2320
02 QIZH-E AN E R 960 1,600 2640
OFSAE SHHSHIXI A
960,000 960 1,600 2640
== 480 800 2320
= 480 800 2320
HEAIE ZXISHOIEAIS 20,000 16,000 4,000
== 10,000 8,000 2,000
= 10,000 8,000 2,000
201 2EH2 Y| 20,000 16,000 4,000
== 10,000 8,000 2,000
= 10,000 8,000 2,000
03 A2 ZY| 20,000 16,000 4,000
OXSAE ZTXISH0E At
5,000,000 %204 423 20,000 16,000 4,000
== 10,000 8,000 2,000
= 10,000 8,000 2,000
A& AlZ] LPG BHZS 2SAIYE AIEZ2Y3(HAAl 6,000 0 6,000
&)
402 212t X201 A 6,000 0 6,000
03 QIZ+{ErAISHI 6,000 0 6,000
OAIEH Atel LPG BH2tY ASAIY AdEE
S(HAAE) 1,500, 00024 *4H 4 6,000 0 6,000
g =8 Y otE, 22K SX & 2,959,879 2,975,391 A15,512
s 25,974 29,375 23,401
== 321,252 375,267 254,015
= 2,612,653 2,570,749 41,904
A= AU 1,550,210 1,569,066 218,856
== 302,317 358,817 256,500
= 1,247,893 1,210,249 37,644
AT IME 2H (XA 50,759 48,0069 2,690
101 Q12| 40,844 38,154 2,690
03 SR (PINAHY) 22X+ 40,844 38,154 2,690
O&EAL BHXI 40,844 38, 154 2,690
OpE== 2,719,45021%101x12& 32,634 30,704 1,930
0AR¥e Y 65,0002 %101%122 780 2,040 A1,260
0H %z A| 140,000 %1 Q1% 122 1,680 0 1,680
0HEFIHI 2.719,45020% 121x25|%60% 3,264 3,071 193
OV ESPRO=, 2,719,450 %101%25|+6% 327 0 327
orE=Y 40,0002%122 480 480 0
0AHE2R+E 167,8802%10! 1,679 1,859 A180




SN

CHol: LHAIQIS AIACH

=
o
& D8 =X U oF, 227
XH

=5 =

2N -3 - A(SH) - MRAR - BAS Oil &k N3 A HwsS2
NAMALESE dReIEE KA 86,400 142,946 N56,546
== 48,000 121,000 A73,000
= 38,400 21,946 16,454
307 212t01 ™ 86,400 142,946 N56,546
== 48,000 121,000 73,000
= 38,400 21,946 16,454
02 QIZHE AN E R 86,400 142,946 N56,546
OXNGMALFS Re|EHE N3 86,400 142,946 N56,546
0N (=3) S W DA LRIXIANS
86,400,000 86,400 101,112 A14,712
== 48,000 91,000 243,000
= 38,400 10,112 28,283
0L H=0F FP=S RS IS 2
= 2 0 41,834 N41,834
== 0 30,000 /30,000
= 0 11,834 A11,834
MsE NEEAZ KI2AE 25,000 0 25,000
= 12,500 0 12,500
= 12,500 0 12,500
301 LetEEZ 25,000 0 25,000
= 12,500 0 12,500
= 12,500 0 12,500
14 JIEIE 43 25,000 0 25,000
Odl=43E LH0IS 50+AHY
2.500,000109! 25,000 0 25,000
= 12,500 0 12,500
= 12,500 0 12,500
S& =SA SHAIE A 10,000 0 10,000
== 4,000 0 4,000
= 6,000 0 6,000
402 SIZERHE0| A 10,000 0 10,000
== 4,000 0 4,000
= 6,000 0 6,000
02 QI XHEAISEE (01X ) 10,000 0 10,000
O8Z =SA SHAIE A
5,000, 0002 <274 10,000 0 10,000
== 4,000 0 4,000
= 6,000 0 6,000
NA=ES HEA ] A 78,04 74,750 3,344
as 25,974 29,375 A3,401
== 18,935 16,450 2,485
= 33,185 28,925 4,260
2 FUOIMN-=34Y SBEE Rte|A 16,246 22,250 26,004
as 7,224 10,625 A3,401




A B3I
M g £8P o™, 22X =X B
= NSF=CE F3E3E A A (S &)
SH - BB G(3) - AR - LS Ol o ol 3 o IRz
= 2,996 3,325 A329
= 6,026 8,300 N2,274
308 KXIHHMSOIA 16,246 22,250 26,004
as 7,224 10,625 A3,401
== 2,996 3,325 A329
= 6,026 8,300 N2,274
13 SIS0 CHEHE A H &AL 16,246 22,250 26,004
OFEIZZ X} ol2dH| L CIMIEIE X
16,246,000 16,246 22,250 26,004
as 7,224 10,625 A3,401
== 2,996 3,325 A329
= 6,026 8,300 N2,274
2UEY FUSE XI3AMS 15,048 15,000 48
== 7,524 7,500 24
= 7,524 7,500 24
308 KXIHHMSOIA 15,048 15,000 48
== 7,524 7,500 24
= 7,524 7,500 24
13 SI|2S0ICHEHE A H L ETALY| 15,048 15,000 48
OO0 HUSE XNFAHY
15,048,000 15,048 15,000 48
== 7,524 7,500 24
= 7,524 7,500 24
HE AHE(CIE) XI2AY 9,300 0 9,300
== 2,790 0 2,790
= 6,510 0 6,510
301 LetEEZ 9,300 0 9,300
== 2,790 0 2,790
= 6,510 0 6,510
14 JIEI2 43 9,300 0 9,300
OFE LZE(2IE) XA 9,300 0 9,300
0EE 2ZE =
1,500, 0002420132 9,000 0 9,000
== 2,700 0 2,700
= 6,300 0 6,300
001y HESE 50,0002*201x3% 300 0 300
== 0 0 0
= 210 0 210
GILXl et & S5 JHA 7,047,853 6,560,413 487,440
= 2,899,215 2,899,215 0
o= 509,429 309,429 200,000
= 3,639,209 3,351,769 287,440
XNSHER 22l 5,925,683 5,498,243 427,440
= 2,669,885 2,669,885 0
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SN

X{XH -
o=

M0t
OIHAl otN & B5 e

=2 NG AL 2t (G M)
S - B - 2I(B)H) - HRA - BES Ol bl ol =) e GmE=l
= 479,969 279,969 200,000
= 2,775,829 2,548,339 227,440
OISEel LPGASMEHT ESXJ A(S) 360,000 0 360,000
== 200,000 0 200,000
= 160,000 0 160,000
402 QI2H X201 N 360,000 0 360,000
== 200,000 0 200,000
= 160,000 0 160,000
03 2IZtREAISI 360,000 0 360,000
O0ISH2(US0tE) LPGAEMEHT B
A 360,000,000 360,000 0 360,000
== 200,000 0 200,000
= 160,000 0 160,000
JISHiEAZ AASIAIY 65,000 0 65,000
403 X XISHMSKH=0(& 65,000 0 65,000
02 SI|I2SHIUISH =R LA E A 65,000 0 65,000
OJI=tidEZ AASIAIE (B80S 2 &
&0ot2) 65,000,000 65,000 0 65,000
IBEZ XIE3 Al 2,440 0 2,440
403 X XISHMSKH=0(& 2,440 0 2,440
02 SI|I2SHIUISH =R LA E A 2,440 0 2,440
OJi=2 & RY=D|g2 =8 XS
SIALY =IOt DH2EHF 2,440,000 2,440 0 2,440
ATHEHEH K ESAI 1,122,170 1,062, 170 60,000
= 229,330 229,330 0
== 29,460 29,460 0
= 863,380 803,380 60,000
LI NA 2 60,000 0 60,000
305 A3 S 60,000 0 60,000
01 tiat=s 60,000 0 60,000
ORIAIAS SoiEIZEE P BA
60,000,000 60,000 0 60,000
MHRES(FSFAIH S S2) 243,742 270,000 N26,258
LHEHHKIZE 243,742 270,000 N26,258
s e INENSN R FS == 243,742 270,000 N26,258
701 JIEte| HISEES 243,742 270,000 N26,258
01 JIEIHEEZ 243,742 270,000 N26,258
OMAHXNZLHELESH HNES
243,742,000 243,742 270,000 A26,258
MRS (FMnS) 1,623,501 1,500,000 123,501
BEXE 123,501 0 123,501
EN= =] 123,501 0 123,501
802 Brata et 123,501 0 123,501




SM: ZHOISD
I HeRes(IMus)

A RPN} (ESRSE))
SN - FHB - G(31H) - NRAR - BES Ol bl ol E o HImE=F]
01 = N8BxR38te= 7,480 0 7,480
02024 &sotAA s 5E XIRAI 0Kt
3,500& 4 0 4
Q2024 =AU L AL XA (BHE
)T HEH( Q| KHLE) 1,514,820 1,515 0 1,515
020243 FLHE HIUXISKIAFY &S Zok(
OIRHEE) 876,4202 877 0 877
020244 OI2S?l LPG AEMEY T EZAMY
Ol Rt 3,028,570 3,029 0 3,029
O2022 = ZYE DNA NS0l ALHAIY TS
oK 2,054, 7402 2,055 0 2,055
02 Al - EHIEZ2PHE2 116,021 0 116,021
02024 &sotAA A2 5 XIRA 0Kt
2,500 3 0 3
O20243 SIIZLIEHSE EsH| XA 0]
i 10,300 11 0 11
020245 B0 L HA3 KA ZHE
OH(O|XtZZEL) 400,300& 401 0 401
02023 S NS HH| KIJAAI THEH(
ORI E}) 15,455,000 15,455 0 15,455
020243 HSAIE SHIHBH XIZAIY Tzt
OH(O|XFEEE) 1,169,000& 1,169 0 1,169
020234 SHHABAIE HXIAIY EHEH(O
pAE=l) 143,000 143 0 143
02024 HMSAIZ XSO A Ol Xt
31,0002 31 0 31
020234 MSAIE AESUISIAI ZIEHRroH(
OIRtEE) 16,000 83,816 0 83,816
02023 ADIEZ S XA Okt
393,000 393 0 393
02024 ATHMUHIH K FEHXI ALY EISHE
OH(O| KFLE) 1,579,840& 1,580 0 1,580
02024 ATHMUHIHK HSX ALY ESHE
OH( Q| XIZE) 3,026,290 3,027 0 3,027
020245 PHMFUAHZ HMIISHIH Gl OHMA|
o XIFA Ot 3,450 4 0 4
02024 MOIE FIIAIE &AL EIHEHH(
Ol Xt S 2,599,340 2,600 0 2,600
O2024F ZstAA A S5 KIRAI (BHE
Z) ZSHEOH(O|XHEEL) 1,060,370 1,061 0 1,061
020244 OI2S?l LPG AEMEY T EZAMY
OIXt 35,8109 346 0 45
020245 A&B01 ARD HFSZINE XA
Are) EISHRIH(O| XIS 131,7202 132 0 132
02024 24801 CIXIE o1Zet XIJAAY &
SHEFOH (O] KHE & 199,000 199 0 199
020245 KIAAMSAEH LHTR ALY ZH
ZEOH (0| RFIEEY) 64,630 65 0 65
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SA DI
Hu: YLES(ZHDSD)
Ciol: SEXIS

(E12: H21)

S - B - S(3) - MSAR - BYS Ofl b oy o HRE2
020248 XA EH LARF ALY D&
ZHH(O|KHIEE) 2 870& 2,991 2,991
020238 HEPNES=S AR A &t AHH ’
1,141,010 1,142 1,142
Q20243 I3 JHEl KIAIY &S EroH ’
(OIRIZEE) 410,050& 411 411
020243 A4E0! L2HRAMTH S|UE S
KIZAIY EIEHAIOK(O|XIELES)
1,040,420& 1,041 1,041




)

o
fuind

2|

e

(Cre: A

-

HwE

41,751
41,751
41,751
41,751
41,751
41,751

&N

3,326,414
3,326,414
3,326,414
3,326,414
3,324,614
3,324,614

AbE E A A

Ojl st

3,368, 165
3,368, 165
3,368, 165
3,368, 165
3,366,365
3,366,365

A RIS

3

23

Al £ ol

- ZH - H2(3)

SA

307 212t01&
08 OIXt

o
H

ZHDIE

3,324,614 41,751

3,366,365

_349_

3,366, 365,000




H & 0 &k AF S H Al A
20259 =F 1 3| YEAFHXAXIAILESESH FHOILD
2AM: BRI
S YA F=H XSF J|
Chel: LAEAFBXAX A (LA FHT ST AL ESS) (CH2]: ®M2l)
SH - BB G(3) - AR - LS O o ol 3 o IRz
AL 773,465 594,000 179,465
= 364,000 364,000 0
= 409,465 230,000 179,465
YEA F=H XY JH| 773,465 594,000 179,465
= 364,000 364,000 0
= 409,465 230,000 179,465
LNATHTA XA (LELFHT SR AL EL S 773,465 594,000 179,465
|
= 364,000 364,000 0
= 409,465 230,000 179,465
LMAFHAS F=0I=X XA 409,465 230,000 179,465
51 8Xta 409,465 230,000 179,465
01 eI”t=X3 409,465 230,000 179,465
OFsXBA2 409,465,000 409,465 230,000 179,465
LN AFHX| G2 AL 364,000 364,000 0
= 364,000 364,000 0
301 LetEEZ 70,600 0 70,600
= 70,600 0 70,600
14 JIEIE2 43 70,600 0 70,600
OYEAFHIIS J|2X2 ML (FHE HD|
LIXZAL) 70,600,000 70,600 0 70,600
= 70,600 0 70,600
401 Al&HIZ 20| 63,400 0 63,400
= 63,400 0 63,400
01 Al&HI 63,400 0 63,400
OLHAZHISA J|2XIHAL (REAR) 63,400 0 63,400
OLHS0IS31 2 SSAIS (L)
30,000,0002 30,000 0 30,000
= 30,000 0 30,000
0N AMOISEA A8 Y ATUEAET(
%) 5,000,000 5,000 5,000
= 5,000 5,000
022 S32AE IHLSAH L)
28,400,000 28,400 28,400
= 28,400 28,400
402 QIZ2EXH201 A 230,000 364,000 134,000
= 230,000 364,000 134,000
02 QIFXHEAISEE (01X ) 230,000 364,000 134,000
OYEAFHIIS J|2XI2 A (LT A)
219,000,000 219,000 353,000 134,000
= 219,000 353,000 134,000
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